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FUNCTION

If g(x) =x% + x — 1 and (gof)(x) = 4x2 — 10x +

5
5, then f(zj is equal to

(13 @ -5
OFs ) 5

Let f : (1,3) > R be a function defined by

fx) =%, where [x] denotes the greatest

integer < x. Then the range of f is

(53 @ [33155)
(24 NEONER
()[5’5} D (52)753

Let f : R - R be such that for all
x € R (2I*x 4+ 21=X) f(x) and (3* + 3X) are
in A.P., then the minimum value of f(x) is
(Lo (2)3

(3)2 (4) 4

The inverse function of
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+X

l10 (—I_Xj
2) 4 Ee 1+x

+X

3) %(log8 e) log, G_—Xj

1 [1+x)
(4) jlog.| T —

Let f : R — R be a function which satisfies
f(x+y)=1{x) + f(y)vVx,yeR. If f(1) =2 and

(n-1)
g(n) = Z f(k),ne N then the value of n, for

k=1
which g(n) = 20, is :
(5 2)9
3) 20 4)4
Let [t] denote the greatest integer <t. Then the
equation in X, [x]2 + 2[x + 2] — 7 = 0 has :
(1) no integral solution
(2) exactly four integral solutions
(3) exactly two solutions
(4) infinitely many solutions
Let A={a,b,c} and B = {1, 2, 3, 4}. Then
the number of elements in the set
C={f: A —>BJ|2 € f(A) and fis not one-one}
is

For a suitably chosen real constant a, let a
function, f : R — {-a} — R be defined by

a—x
fx)= T Further suppose that for any real

number X #-aand f(x) #—a, (fof)(x) =x. Then

f(—%j is equal to :
1 ! 2)3
(1) 5 2)

1
(3)-3 ) -3
Suppose that a function f : R — R satisfies
fx+y) = f(x)f(y) for all x, y € R and

f(H)=3.1f Zf(i) =363, then n is equal to

i=1
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Sol.
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SOLUTION
NTA Ans. (2)

g(x) = x2 + x-1

g (fx)=4x2-10x+5
= (2x =22 + (2 = 2x) -1
= (2-2%2 + (2-2x) -1

=f(x)=2-2x
f(é)z—_l
4 2
NTA Ans. (4)
X
> ;o xe(1,2)
F(x) = x2+1
X
a1 ; xe[2,3)

f(x) is decreasing function

21 34
f(X)’E[ganUKE:E}

(4) Option
NTA Ans. (2)
202 +27% )+ (3* +37F
2
(AM >G.M)
NTA Ans. (3)
8" —1 2
= = :1—
f(x)=y 8" +1 8" +1
S0, 8% +1=—2 gt _1tY
I-y -y
l+y 1 1
:z —_— =
- n(l—y}(MnS 1)

1 1
Hence, f~1(x) = Zlog8 e/én(l * Xj

—X

Sol.

Sol.

Sol.

Official Ans. by NTA (1)
f(x +y) = f(x) + f(y)

= f(n) = nf(1)

f(n) = 2n

n-1
g(n) = Zznzzt(“‘zl)“j =n(n- 1)
k=1

gn)=20 = n(n-1)=20
n=>5

Official Ans. by NTA (4)
X2+ 2[x+2]-7=0

= [x]?+2[x]+4-7=0
=[x]=1,-3
=>xell,2)U[-3,-2)
Official Ans. by NTA (19.00)

C={f: A —>BJ|2 € f(A) and fis not one-one}
Case-1 : If f(x) =2 V x € A then number of

function = 1

Case-II : If f(x) = 2 for exactly two elements
then total number of many-one function =3C,

3C, =9

Case-111 : If f(x) = 2 for exactly one element
then total number of many-one functions

=3C,3C, =9
Total = 19
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8. Official Ans. by NTA (2) 9. Official Ans. by NTA (5.00)
o0 =37 Sol. f(x+y) = f(x) f(y)
Sol. TR0 rER-IoR putx=y=1 f@ =) =3
(a—xj putx =2, y=1f3)=(f(1)* =3’
f(fx)= a-f(x) _ “laex ESimﬂarly £(x) = 3*
a+ f(x) (a—xj
at+|—— o S
a+x Zf(i)=363:>23‘=363
f(f(x)):(a —a)+x(a+1) _ (B +3 + ...+ 3" =363

(a2+a)+x(a—1)
—S@-a+x@+) =@ +ax+x(a-1)
—Sa@-D+x(1-a)-x}@a-1)=0
=a=1

1—-x

1+x°

fx)=

3(3 —1)=363

3"_1=242 = 3" =243
=>n=>5




